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Question: 1 
   
An elevator leaves the first floor of a 25-story building with 3 people on board. It stops at every floor. 
Each time it comes to an even-numbered floor, 3 people get on and one person gets off. Each time it 
comes to an odd-numbered floor, 3 people get on and 4 people get off. 
How many people are on board when it arrives at the 25th floor? 
 
A. 13 
B. 16 
C. 15 
D. 12 
 

Answer: B     
 
Explanation: 
There are 12 even-numbered floors between floors 1 and 25. At each one, the elevator gains 2 
people, for a net gain of 24. There are 11 odd-numbered floors between floors 1 and 25 (not 
counting floors 1 and 25). At each one, the elevator loses 1 person, for a net loss of 11. The elevator 
leaves the first floor with 3 people, so the total arriving at the 25th floor is 3 + 24 - 11 = 16. 

Question: 2 
   
Which word does not belong with the others? 
 
A. Artificial 
B. Synthetic 
C. Natural 
D. Man-made 
 

Answer: C     
 
Explanation: 
Natural is the opposite of the other words in the series. Artificial, synthetic, and man-made are all words 
for non-natural processes. 

Question: 3 
   
The bowl of change on your dresser totals $2.17. Which combination of coins could NOT be in the bowl? 
 
A. 8 quarters, 1 dime, 1 nickel, and 2 pennies 
B. 192 pennies and 1 quarter 
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C. 25 nickels, 11 dimes, and 2 pennies 
D. 6 quarters, 6 dimes, 1 nickel, and 2 pennies 
 

Answer: C     
 
Explanation: 
This combination of coins totals $2.37. 

Question: 4 
   
Choose the meaning of the underlined word. 
The group hiked along a precipitous slope that many found unnerving. 
 
A. rugged 
B. dangerous 
C. steep 
D. wet 
 

Answer: C     
 
Explanation: 
The word "precipitous" means "steep." 

Question: 5 
   
If 12 is added to the product of 13 and 7, the result is 
 
A. 32 
B. 79 
C. 103 
D. 240 
 

Answer: C     
 
Explanation: 
The product is the result of multiplying two numbers. The product of 13 x 7 = 91. Add 12 to get 103, 
Choice C. 

Question: 6 
   
Bernie arrived late for the performance. Tom arrived before Darius. Tom arrived after Bernie. If the first 
two statements are true, then the third is: 
 
A. True 
B. False 
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C. Unknown 
 

Answer: C     
 
Explanation: 
We can diagram this sentence as follows: Tom > Darius, which tells us that Tom arrived before 
Darius. We do not have enough information to determine when Bernie arrived in relation to the 
other two people. 

Question: 7 
   
What number is one half the average of 3, 4, and 5? 
 
A. 1.5 
B. 2 
C. 4 
D.  2.5 
 

Answer: B     
 
Explanation: 
To compute the average, first find the sum of all the items in the list and then divide by the 

 

Question: 8 
   
What is the mode of the following numbers: 14, 17, 14, 12, 13, 15, 22, 11? 
 
A. 13.5 
B. 14 
C. 14.75 
D. 16.5 
 

Answer: B     
 
Explanation: 
The mode is the value of the term that occurs most. Of these terms, the number 14 occurs twice, so 
Choice B is the correct answer. 

Question: 9 
   
A music download takes 15 minutes for the first 20%. If it continues at the same rate, what will be the 
total amount of time required to download the entire piece of music? 
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A. 1 hour 15 minutes 
B. 1 hour 
C. 50 minutes 
D. 45 minutes 
 

Answer: A     
 
Explanation: 
Since 20% is equivalent to 1/5, it will take 5 times as long to download the entire piece of music. 5 x 15 = 
75 minutes, this is equivalent to 1 hour 15 minutes. 

Question: 10 
   
Multiplying a number by ⅔ is the same as dividing that same number by 
 
A. ⅔ 
B. 3 
C. 1 
D. 3/2 
 

Answer: D     
 
Explanation: 
Division is the opposite, or the reciprocal, of multiplication. 
The reciprocal of ⅔ is 3/2, Choice D. 
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